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Arr BE

1.1 2EtH(0Octave) ZH|0|X|oj
https://www.gnu.org/software/octave/
M489 DownloadHES 2ottt

1.2 Download& ZgstH 7|2 30| GNU/Linux2 AMIgol

EOfQICH,
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GMNU Octave

Setup has detected Windows 10 installed on your system. Octave is
currently not fully tested on Windows 10. Testers are welcome to
provide feedback. Do you want to proceed with the installation
anyway?

an | ouam

Che 73 HAJA]= java Runtime EnvironmentZ} 7]20] 4] %[ A]

orotrti 7lolct, of(Y)2 Zelsto] the chAlR doriah

GMNU Octave

Octave has the capability to call Java libraries, but the installer was

! unable to find a Java Runtime Envircnment (JRE) on this system.
Octave will still function without a JRE, only certain specific functions
will be disabled. If a IRE is installed later, Octave should be able to
detect and use it automatically. Continue with installation?

av) | | otu=en |

2.3 O|Y| EAHXOZ QOctave MX|7t EC; ‘Next >'E
CIAIE O{7}RE,

Systof
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) GNU Octave - — x
Welcome to the GNU Octave Setup
Wizard
This wizard will guide you through the installation of GMNU
Octave.
It is recommended that you dose all other applications
before starting Setup. This will make it possible to update
relevant system files without having to reboot your

Wisgai ey COMpuber.

= =t Click Next to continue.
I Mext = I | Cancel
LA (1 ) =2 3 i
2.4 L2712 JO|MIAO| M8t LHRO|TL ‘Next >'S Zso] T}

= YAZ YO{TX}L

i) GNU Octave -+ — 4
License Agreement
Please review the license terms before installing GMU Octave.
Press Page Down to see the rest of the agreement.
| GMU GEMERAL PUBLIC LICEMNSE -~

Wersion 3, 29 June 2007
Copyright (C) 2007 Free Software Foundation, Inc. <htip:/ffsf.orgf>
Everyone is permitted to copy and distribute verbatim copies
of this license document, but changing it is not allowed.

Preamble

The GMU General Public License is a free, copyleft license for
software and other kinds of works.

The source code for Octave is freely redistributable under the terms of the GMNU General
Public License (GPL) as published by the Free Software Foundation.

GhU Ockave

<Back |[ mMext> | | cancal
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MMedo|gt, 7|12 Ztog =7 ‘Next
T2 HO{7}XY,

) GNU Octave

O

Install Options

Choose options for installing

[+] Install for all users

[ register .m file type with

BLAS library implementation:

GHU Cctave

[+] Create desktop shortouts

Octave

::BadcllNert>||Canoei
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JMI

2.6 T2 MX|QX|Z Hst= Ato[Ct, 7|

tall'2 SUsto] MXISIHXL.

() GNU Octave A —

Choose Install Location

Choose the folder in which to install GNU Octave.,

T

Browse and select another folder, Click Install to start the installation.

Destination Folder

Setup will install GHU Octave in the following folder. To install in a different folder, dick

Space reguired: 1.5GB
Space gvailable: 76.5GB

G Cctave
<Back |[ sl | | cancel
) GNU Octave - -
Installing
Please wait while GMU Octave is being installed.
Extract: richedit.h

Extract: winapifamily.h
Extract: Imwksta.h
Extract: cspublic.h
Extract: rpcproxy.h
Extract: comutil.h
Extract: wabcode.h
Extract: sgldb.h
Extract: d3d.h

Extract: epsg_ellipse.inc
Extract: richedit.h

GhL Cctave

< Back Next >

Cancel
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27 TSI 22 BITO| U FQ, PAHOZ A7t AR X
o|tf. “Finish”2 Z&st T2z MX|E ZZGHKL.

i) GNU Octave - -

Completing the GNU Octave Setup
Wizard
GMU Octave has been installed on your computer.

Click Finish to close this wizard.

Run GNU Octave

Show Readme

< Back Cancel

2.8 D2J3 MXZ OHK® Octave L2I2H0| ABYLIX|D
ZISIT TA| AISSHAL HIEISIHE WO Chenp 2o
Octave GUI Ofo|Z0| QT Cigaasiy mziae

AIBHSEXE,

r
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l Octave-4.0.0

Octave (CLD)
Octave (GUI)
Octave (HTML)
Octave (PDF)

Octave C++ Classes (HTML)

Octave C++ Classes (PDF)
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B Welcome to GMU Octave

Welcome to Octave!
You seem to be using the Octave graphical interface for the first time

Octave,

The configuration file is stored in
C:/Users/yongho/, config/octave/qt-settings,

on this computer, Click ‘Mext’ to create a configuration file and launch

Mext I

Cancel
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‘Next >'5 Zeefo] the S Yol

W7 Welcome to GNU Octave

Community News

itern in the "Help” menu in the GUI, or by visiting
hittp i/ octave, org/cormmunity -news bitml,

and infarmation about the Octave comrmmunity,

When the Octave GUI starts, it will check the Octave weh site for
current news and information about the Octave community, The check
will happen at most once each day and news will anly be displayed if
there is something new since the last time you viewed the news,

You may also view the news by selecting the "Community Mews”

Previous | Mext I

¥ Allow Octave to connect to the Octave web site when it starts to display current news

Cancel
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‘Finish’S Z2lsto] 7]EMAAL etg gt

B Welcome to GNU Octave ? x

Enjoy!
We hope you find Qctave to be a useful tool,

If wyou encounter problerns, there are a number of ways to get help,
including commercial support options, & mailing list, a wiki, and other
community-based support channels, ¥ou can find more information
about each of these by visiting hitp://octave org/support biml (opens
in external browser),

Faor more information about Octave:
* Yisit http.//octave org (opens in external browser)

* Get the documentation online as htrnl- or pdf-docurnent (opens in external browser)
* Open the documentation browser of the Octave GUI with the help menu

Previous | Finish I Cancel
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1Ll L e~

MR SEo A WA G 2w 8ol Zko] lo]i of

|5

SOl o=l o]AQ H SRS Tl o= AOE|L AHddojrh

m [R=lrw v ™ o=
o 2P 124171 W oot FAF HOUZE w7}
Aokt ~d2 o Al ErPE A7IE AL EE e ETIC

22 Ueh Zolth 7] A4S AR uehid cohga gt

1, 1, 2, 3, 5, 8, 13, 21, 34, ... . OfELER] £FL ofefje] A3}
Alo 2 AolE|= ot

F=F =1, d o

F=F _|+tF 5, n=3

ol 42 20975 L2IFS Agste] FHEAL.
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2 EMT
clear;
% H22] =7|8}
F(1)=1;
% L|HELIX| =EHo| AHmjt
F(2)=1;
% LELIX| =&Ho| Emiet U

n=20;

% X +=go| gt
fprintf('F(1)=%d W¥n',F(1));
%» BEE ol Anjd =

fprintf('F(2)=%d Wn',F(2));

% BEE ol =mg =™

for i=3:n

F(i)=F(i—1)+F(i—2);
% D|ELIX| =go| HMsiAMe=2 F(3), F(4), ... , F(n)
g 78

fprintf('F(%d)=%d Wn',i,F(i));

% i HW =& F()S ==

end
plot(F,'o-")
% O HELIX| €82 J8eRE EX, o= HAEE I8

M= LIEHCE,
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») Fibonacci
F(1)=1
F(2)=1
F(3)=2
F(4)=3
F(5)=5
F(6)=8
F(7)=13
F(8)=21
F(9)=34
F(10)=55
F(11)=89
F(12)=144
F(13)=233
F(14)=377
F(15)=610
F(16)=987
F(17)=1597
F(18)=2584
F(19)=4181
F(20)=6765
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JMI

Sk (common divisor) = F A0 FEE Ckpo|ct

FEg: CommonDivisor.m

clear,;

x=30816

y=81696

for divisor=1:min(x,y)

if mod(x,divisor)==0 && mod(y,divisor)==
divisor

end

end




I

34 ROIEG) REBILO FE

S R Hor
>> CommonDivisor
x = 30816
y = 81696
divisor = 1
divisor = 2
divisor = 3
divisor = 4
divisor = 6
divisor = 8
divisor = 12
divisor = 16
divisor = 24
divisor = 32
divisor = 48
divisor = 96




032

») LCommonMultiple
x = 30816

y = 81696

ans = 26224416




40 ROIEGE) 2CHIBO &

JMI

AEIELHIYILL] M|

oletEAEYAS] A (Sieve of Eratosthenes)= A4S 2h=
ek soldh e Zela Asb ofetEadact W
SHOICE o] HIWl2 uhx] A= x50 5 ZAgfitikal shof o

StE 2B Hlekn Bact
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o2 Sof, offet 7ro] 13REl 1007HA]Q] AFASIE Qltkn
2L 18 240 oRBE H ISk 28E AJRFste] 2Hch 2
20] AL BE HIEZ sich 72 b 3EcH 2 39 AR
T AHIZE ek o]y "oz 100Ect 122 997tx] s
UhAl M= oF Bl f50] afolch ofgfe] KEE AR R

A,

1 2 3 4 5 6 7 8 9 10
11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30
31 32 33 34 35 36 37 38 39 40
41 42 43 44 45 46 47 48 49 50
51 52 53 54 55 56 57 58 59 60
61 62 63 64 65 66 67 68 69 70
71 72 73 74 75 76 77 78 79 80
81 82 83 84 85 86 87 88 89 90
91 92 93 94 95 96 97 98 99 100



clear;
n=100;
% E{ 100 7tX|e] =X} Hof| &+E
TetCt,
x=ones(n,1);
BE #HAa9 Zto] 10|Ct

% x= 3A7|7} nQl HEO|

x(1)=0;
% 12 A7} OIL|IBEE2 022 AM|E!
stiC},

(=)

for i=2:n—1
2 25 E n-12 Al

% LI+ T
for j=i+1in
+2 idCt 12 £=8E nZIX|2 siC}

% M3 i
if mod(j,i)==0
% j7t i2 LI+=O0{=E o X|=X| |3 stC}

x(j)=0;
% LEFOI”OIXIE HR x(j)el U2 022 ME

end

end

end
for i=1:n
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prime
prime
prime
prime
prime
prime
prime
prime
prime
prime
prime
prime
prime

TotalNumber

41

43
47
53
59
61

67
71

73
79
83
89
97

25




ofefiet o] WHsh Folck.

SiC},

for i=2:[vn ]
2 28E [Vnlg A8

% Liss &

o] AIZFSHEA},

L. EI U
Aoltt, 2-Ef

M2 "ol of =20 thslA]=
o714 [m] 7]_§.L mo Hz] %].-_‘E_ 7}AE
HoA= floor() OIS ARRSICEH
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FEA
clear;
q=234613;
% Yoo XA
flag=1,
% q7t A%QIX| OIXIE LBFE £
for i=2:q—1

% a5 L= =
if (mod(q,i)==0)
% a7t i2 LI5{EHOX|=X|E E¥
printf('%d is not a prime number Wn',q);
% q7t A7} ofL|2t =¥
flag=0;
% a7t &A=t ofL|2tn XMF
break;
% q7l 257} OIL|BEE FEZF titXLI=
end
end
it flag==
% q7l 28E qg-17lX|e] =2 LI5{EHOHX|X| o™
flag=12 JE |X|7| EJ2BE q= &5
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printf('%d is a prime number Wn',q);
% q7l A2t &=

end

4

od
o
0
or
nad
=]

Y) PrimeOrNot
234613 is a prime number




| B8lj(prime factorization)= SHALE ApO] 2.0 2 LiE}
W= viH.S aistot, SR (A 0, composite number)+< 12} At
ofL] ThE z}0ifo] ZO 2 LtEPH 4 9l RJGILE 9

ofete}, 1Mok 2 BE Hi 2dolAL g4l

: PrimeFactorization.m

(gl
In
ol

clear,;

format long

n=985564500

q=2,

count=1;

while g (= n

if mod(n,q)==0

n=n/q;
x(count)=q;
count=count+1;

else

q=q+1;
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% sl 20| FOIZl 4 nIt UXIFS HIE + AL,

>> PrimeFactorization

n = 985564500

x= 2 2 3 5 5 5 79 8317
985564500

S
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ALTES

A (CHIRIE, Amicable numbers, XIol4)= & 49 Ao]
Ol o= gk o AR F A AMS ALt ZD)E
BT opte oh2 4o Eb AL WRich g Sol 2207
284= Zlgkpoltt, 2202] A= 1, 2, 4, 5, 10, 11, 20, 22,
44, 55, 1100|112 Z% Tt 2847 EIch HithZ 2849 RE
2Ok 1, 2, 4, 71, 1428 2% dstd 2200] Ech

4} [SAPF ALK SAlE 2

p)




TEMO
clear;
n=3000;
% 300077tX|2| Zlgt+E tseirCt,
for i=2:n

% 282 E ntX|e] =& FolM zlst+E I StCE,
x=0;

% i2] ZIkx+=S B H3SH7| flsiM 022 =7|5
for j=1:i—1

% io] TIete+E 35171 siM 182E i-17HX] HE

if mod(i,j)==
% j7t 2] AULQIX|E HESICL
x=x+j,
% 2+E FHHM HsliE
end
end
if x)1

% x7F 10|H j
2371 OfL|2tH Al EIS
y=0;

% x2| M F5tHE MIA57] fIHM yE 022 ME

rir
b
1>
oo
|0
fu
el
L0£
S
A
flin
1
EQ
n
N
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for j=1:x—1
% x| ZTIsF F5t7] HsHAM 182E x-17X| HE

——T =

if mod(x,j)==0
% i7b xo| 21 X|E HESICH
y=y+ij;
% 2+5 FHM s
end
end
if i==y && x)i
% i9} i9] XIokAo| £l xo| XIQkAo| B yI} 2T

D A
oH2 R Hm

>> AmicableNumber
ans = 220 284
ans = 1184 1210
2620 2924

ans




clear,;

n=10000;

% 1000077tX| £=E SOA 2FEE 57|

for i=2:n

% 25 E ntX|e] =& SoAM 2A™+E M IZetCt
x=0;

% io XIkPrES MH 57| QISHAM 022 =7|5}

forj=1n—1

% j7t i2] =% QUX|E HESICE,
if mod(i,j)==
X=x+j;
% A5 FHsIAM Eelis
end
end
if i==x

% OFCF 9} o] XICkArE

o
HI
>
o
ro
EY
=]
ny
|0
2

A = >
=T 1= %é:!




o3

d0
e

F 'I=EI]1_|.

Y) PerfectNumber

6

28
496
8128

6

41 0)/A
=7 /(0

2%

Perfect Numbers




BY A8, Betrothed numbers)= & 49| o] 9lof o
L 3t 29 185 AL ZekrE BE GotH thE 27F Ele=
g YRt
ds Fo] 489 AlCkyr = 1§ ALt ZIeRRES] ol
2+3+4+6+8+12+16+24=750]1L, 759 ZlCkpx = 18 ALJst 2l
OF~E9] THO| 345+15+25=480] E&=H|, o3 HLE FHpet

E1Ae] sl




clear;

n=2000;

% 200077tX| =5 SO0AM BEEFZS 7|

for i=2:n

% 25 E n7tX|e] =& oM BEFEE M IAsiC),
x=0;

% io] TIef-ES MR OSH7] fsiM 022 =7|35t

for j=2:i—1

% i2] 12 HMelst ZIk+E F5t7] fIsHM 28 H i-17t
X 4E

if mod(i,j)==0
% j7t i2] *QAX|E HESICL,

=
X=x+j;
% 2+ FHsIA ellE
end
end
if x)0
% x7|- 00|H i= Aoz BREI E £ QiCt i7t

=7} otL|2tH A& ZIsH
y=0;
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>) BetrothedNumber
ans = 48 75
ans = 140 195
ans = 1050 1925
ans = 1575 1648
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AE0] A(twin prime)= F &8 APF 2Q1 ALl A =

(p, pt2)°lct.

FEo: TwinPrime.m

clear;

n=100;

y=ones(n,1);

y(1)=0;

for i=2:floor(sqrt(n))

for j=i+1in




I

70 REIEG2 REBILO FE

z(count)=i;
count=count+1;
end
end
for i=1:length(z)-1
% $S0| £8 &7|9s 2z
if z(i+1)-z(i)==
% T A2| X7} 20|H =¥

[2(i) z(i+1)]

£ A8

oY

end
end
o328 R Hm
»> TwinPrime
ans = 3 5
ans = 5 7

ans = 11 13
ans = 17 19
ans = 29 31
ans = 41 43
ans = 59 61
ans = 71 73
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rMELS

AFE Af(cousin prime)S T O A7F 491 AL A =

(p, pr4)olTh 100 olste] AR 252 JBfEA}

) Y

FEod: CousinPrime.m

clear;
n=100;
y=ones(n,1);
y(1)=0;
for i=2:floor(sqrt(n))
for j=i+1:n
if mod(j,i)==0
y(j)=0;
end
end
end
count=1;
for i=1in
if y(i)==
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io] S22 BF A7t OILIEE yE 022 ME

if mod(j,i)==0

y(j)=0;

end

end
end
count=1;
% 158E n7tX|e] = FOA LT XMFsSt7| HsHA
count=12 M|E!
for i=1:n

if y(i)==
% iHW 7} A50|H zol XMEsStn QUEAEFE SiL 3
A=t

z(count)=i;
count=count+1;

end
end
for i=1:length(z)—1
% ¥s0| =& 7|2 BEZE AIE

if z(i+1)—-z(i)==
% 5= A2 XJI 40|H &8

oY
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[z(i) z(i+1)]
end
end

Y) CousinPrime

ans = 7 11
ans = 13 17
ans = 19 23
ans = 37 41
ans = 43 47
ans = 67 71
ans = 79 83
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DCupEO] 2X “Hrp 2 RE AL T a0 o

LFEHd 2~ olch 2 slolsh FT2 ARAS| Eat

FEd: GoldbachConjecture.m

clear,;

n=100;

x=ones(n,1);

x(1)=0;

for i=2:floor(sqrt(n))




kL
Iy
i
o

clear;
n=100;
% 5 7Me] A9
x=ones(n,1);
% 15 E n7tX| = SO0|A LA0[H 1 OIL|H 0
x(1)=0;
% 12 A7} OIL|IBR 0
for i=2:floor(sqgrt(n))
% A5 MIA= floor(sqrt(n))e] HisTF 5tH E
for j=i+1:n
% i2Ct 12 =52E n7X| 32
if mod(j,i)==0
% 2refof|l j7t ie] uf+-o0|H™
x(j)=0;
% A7} Ot

end

0b

o2 LiEtY 4

end
end
count=1;

% ASDH M2 MES| Y5 QAMA

QEIEZ oIQUI0l £ &@F Otk 23 BRIZ FolBR 77
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D A
OiedE X Bm

)Y GoldbachConjecture
ans = 3 97

ans = 11 89
ans = 17 83
ans = 29 71
ans = 41 59
ans = 47 53

ros
&

tlofY) 4%

(£42F oF4 o)opn))
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() mol I, A7 Alg, SSRSHETA,

[5] 91714982} https://ko.wikipedia.org/wiki









